


FEA 2 <r<aig WENE AA% 19 gho] ofd AL
@1 @ 2 ® 3 @ 4 ®)5
0.8 <x<4111... 0|22
BHEsHs 2p4 x ] gro] obd 2L 5olc,




)

o

2 Uehfolx 42 §elset
=
=

4
b
7t
5

o, 24
2
o}

st

e

L z70]
AAL BT SRl

b+ 0 o]}

Qg
@ =%




4.

1 _
Do (100 - 1) 9 g B Ae] 5217

13
@ 47+ @ 52 ® 642
@)7 A< ® 8#e

15 .. 1153845
= = 1153846 = ———=°
13 P3846 = 555999
115384
xx (106 = 1) = D385 999999 — 1153845

999999




xof Teh AT A x4 1.9 = 2.3 9] S E FoFH?

@0.3 @003 ®013 @023

® 0.33

x:2.3—1.9:w—19—_1:3

9 9 §=0.3




6. of® Adfe] 232 FoloF & AL 228 BHALY A7t 027
A7t ol o] A4S kw7

s @ @10 @1 ©12

B 1
ol ZAASFE x2t & uf 22 > 220|822
XX22-xx22=02
20 22 2
9 10" T 10
g 9] 902 FotH
200x — 198x = 18
2x =18

Lx=9




? (A 270)

)
)
=

HE
o

o}
dlig
Nfo

ojn




